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(vi) 9IT— 37 % J97 G4 T 6 & 797 131 31l & & | 379 ST AT 30 Vs F 37 & |

(vii) 9T — 3 & J97 G 7 @ 18 & F97 A7-a17 37l & & | 99 3 T 50 V15l 4 a7
g1

(viii) 9T — 3T & J97 G&AT 19 T 24 3 J97 Qrer-qier 3 & & | g9 3 T 70 9151 7 3
g1

(ix) 9T— & & g9 G725 T 33 3 J97 JA1IeHSE HIeeT T3 ATYING Tglashedt 797 & | I3
TvT U 31 T & | [RU T 9 el 4 G S99t SeaeT U Gad UG [T g & 1

(x) YT — & & 597 G134 T 36 3 T FAITeHS BVt T IR q-qt bl & 397 & |
T I ARTT AT E |

General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii) All questions are compulsory.

(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x)  Question numbers 34 to 36 in Section B are two-marks questions based on practical
skills. These are to be answered in brief.
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SECTION - A
1. hleH FINThT ! FHSIAE SUT &1 & 2 1

What is a homologous series of carbon compounds ?

2. IOT & feA e dye S @ Bl ? 1

Why is fertilization not possible without pollination ?

3. SIRIHeISIRI ST (CFC) T STTeeR SUamT Faw= ot foug o1 € 2 1

Why is excessive use of CFCs a cause of concern ?

4. THE MO 00T gRT 3 g AEET +3 ¥ | T9 I 1 [Ga9eAnor i @R (i) 3907 %
TR AT (ii) TUT & Yo & HIUET oy bt i o1 Sooig Hive | 39 et | ufdter a9
T & TeTw TohoT e wifaw | 2

The linear magnification produced by a spherical mirror is +3. Analyse this value and
state the (i) type of mirror and (i1) position of the object with respect to the pole of the
mirror. Draw ray diagram to show the formation of image in this case.

5. o1 %l &Ifd % IR HROT i gl =T | 2

List four causes of damage to forests.

6. Uit fahm o1 € 2 39 q1 e 3299 fefau | 2

What is sustainable development ? State its two main objectives.

7. IS HEA AN P INE H FGTG ¢ | AMw P AT K,Cr, 0, & T AR
FE 3T AN ‘Q” TN & | 5 QW WISAT HN TH [ Wl &, af hig 79 R’
bt & S Ui’ @ % @Y Serdl & | P, Q @41 R %l Yg9H i a9 g arelt
MATHATST o TATaf-e FHieRoT of fafeaw | 3

An organic compound ‘P’ is a constituent of wine. ‘P’ on reacting with acidified

Cr,0O, forms another compound ‘Q’. When a piece of sodium is added to ‘Q’ a gas
27

‘R’ evolves which burns with a pop sound. Identify P, Q and R and write the chemical
equations of the reactions involved.
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8. 3 HIeH AT T AW R 0] G feifau, fSraeh A1 & Qe Ser <3t o § 3R
fSTaeh 2107 § &1 e A & | 78 ST e & forw o 5 gl €, 5 7 difies e @i
H,SO, & T T fohal ST 8, g Hfferd T FHe0T faige 3 a7 et W
I o1 A ffgw | g9 sfufshan | wig H,SO, i JfHeht i Seei@ i iy |

Write the name and molecular formula of an organic compound having its name
suffixed with ‘ol’ and having two carbon atoms in its molecule. Write balanced
chemical equation to indicate what happens when this compound is heated with excess
conc. H,SO, and the name of main product formed. Also state the role of conc. H,SO,

in the reaction.

9. fordi ava X’ B RED EEAT 19 ¥ |

(a) THH RIS =g i@y |

(b) TE T TP T RO & ha M | eI & T Sqeh! TSRl 97 & 2

(c) AT X T RS T & [T TW IS T STATdT STl &, off 39 RS i
TR T I
I, SR STa 3T 2

(d) 9 T RIS H Sl H HT AT &, A e ool SAAHAT 1 Tferd Tt
FHHYT fefay |

The atomic number of an element ‘X’ is 19.

(a) Write its electronic configuration.

(b) To which period of the Modern Periodic Table does it belong and what is its
valency ?

(c) If °X’ burns in oxygen to form its oxide, what will be its nature — acidic, basic or
neutral ?

(d) Write balanced chemical equation for the reaction when this oxide is dissolved
in water.

10. 3Ty 3Te RN % (i) fRE 9ge H, (ii) fRdt oTed | Al S geiaeE e ot g 5y
T UREfad gidl & 31X T 2

How does the tendency of the elements to lose electrons change in the Modern
Periodic Table in (i) a group, (ii) a period and why ?

31/2/3 4



11. =13 E, 5
(a) THRAT &1 AN § e AT § 2
(b) T IS YT Ferep T TSI o] T ol &l STl & 2
(c) URUS g W WRISET e Sl & 2 3
What happens when
(a) Planaria gets cut into two pieces ?

(b) A mature spirogyra filament attains considerable length ?

(c)  On maturation sporangia burst ?

12. (a) HHE R A O % A ST T 3 w6t it fefEn

(i) oo
(i)  FoOT-hT
(i) vpRaNTEr
(v) WU
(b) ST i 31 frepid o & 2 3

(a) Mention the role of the following organs of human male reproductive system :
(1) Testis; (i1) Scrotum; (iii) Vas deferens; (iv) Prostate glands.

(b) What are the two roles of testosterone ?

13, ORTTOT ST 2 TH% I UHRT Y Gl SET G201 7 AT o S [TUG-hRI Ush TETT I Sooid
HIfT | 3

What is Pollination ? List its two types and write a distinguishing feature between the

two.
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14. il o forepra & GHET | JHI0T UK e a6t i SR i Tt SR 3R Wedsh i Jiieht
& Seoig | FHIT |

List three factors that provide evidences in favour of evolution in organisms and state

the role of each in brief.

15. $acT U g9 fouardt o1eTor bl &I § W& gU Heel o HeX o 91y {ohy U S7aferes ceton
Helel} TR hi AT iy |

Explain Mendel’s experiment with peas on inheritance of characters considering only
one visible contrasting character.

16. == ST 1T 7 i HROT Hied AR DT ;
(i) A" % THF G TR WA Sl ¢ |
(i) =T9eT & qHT GF Yo Uelid el & |
(iii)  3TANETETT S STRILT =iet 3 T T HTeAT Tld Bl & |
Explain in brief the reason for each of the following :
(1)  The sun appears reddish during sun-rise.
(i) At noon the sun appears white.

(ii1)) To an astronaut the sky appears dark instead of blue.

17. S fohdr oig g, fover sl fondt ot feafq o fow ee € o= ottt uidiara i), |ier 3T
BT TAT &, T I DI UPid T Seoid HISTT | 310 IR i I o foIw wehrer fopeor e
Titaw | 3 50 TR o fehdl | ol THish U ol Aifeheh T 20 cm &, @ T2 e aRAR!
% ITTHR THEh! &7l 1T I |

If the image formed by a lens for all positions of the object placed in front of it is
always virtual, erect and diminished, state the type of the lens. Draw a ray diagram in
support of your answer. If the numerical value of focal length of such a lens is 20 cm,

find its power in new cartesian sign conventions.
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18. R T it 3R U™ & foua § ==l sid TH 9187k Heled = Bl § ame Jod J9g
STIeTeHT ST o F=d % I § PCRA (Ui TReI0T T84 §e) & ATE | Farad
a7 | IAT ST A % |/, SR ael @i, fommera ST O | S T W,
ST AT St o, ST A ST TIarST ¥ 3919 o e hT g e |

ORISR TEET T Ug % qeT e {T T Ut 3 S I -

(a) STETeH $6 WIpides TATE &, T &0 3¢ TXIeTd i ol STavaehdl o1 & 2

(b)  STETeHr ST i Tod & el ST SUTET Y Gl ST |

(c) ST gRT VR 3 Yoo o Sooid HifTT | 3

While discussing about coal and petroleum a teacher told his students about PCRA’s
(Petroleum Conservation Research Association) guidelines to save the fossil fuels
while driving vehicles. Deepa was going to her school with her mother who was
driving car. At the traffic signal, when the light was red, Deepa suggested her mother

to switch off the engine.

After reading the above passage, answer the following questions :

(a) Fossil fuels are natural resources, then why do we need to conserve them ?
(b) List any two ways of saving the fossil fuels.

(c) State two values exhibited by Deepa.

19. (a) WA HGT SFE O & A ST T 7T & AT b1 G H Sooid iU
U, AT g, T
(b) ST (FTae) T € ? TE HT BT T 2 5

(a) State in brief the functions of the following organs in the human female

reproductive system :
Ovary, Fallopian tube, Uterus

(b) What is menstruation ? Why does it occur ?
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20. Todet 7 & 2 STot H U e W 98 B S § 2 9T THHTeT Si9 3T Taetreeht o 9 ot
e S5 2 989 H ool HiT b fHdeT 1 (0T fhd U SUgl ¥ dolld gl ol A%
A H Feh eIl § |

What are micelles ? Why does it form when soap is added to water ? Will a micelle be

formed in other solvents such as ethanol also ? State briefly how the formation of

micelles help to clean the clothes having oily spots.

21. Siaweg @1 € 2 3 59 UBR 990 € ? STawd ®f o1 uiRka s @t 51 fafeEt @ gE
AT | foehrdt Heei sl GHved XA | SHarent o Hewe S Feld H SRl iy |
What are fossils ? How are they formed ? List two methods of determining the age of

fossils. Explain in brief the importance of fossils in deciding the evolutionary

relatrionships.

22. 6 cm 9 fohdl o B 20 cm Wi g % THAT tadet o ¥ fohaet g0 W e Y T
I At o T 15 cm T W I 2 T aTet Hfcfera 1 Trest | URewield i |
SWie feafd T &9 R viatere a9 39 & g foheor e iy SR Aifehd off ST |

At what distance from a concave lens of focal length 20 cm a 6 cm tall object be

placed so as to obtain its image at 15 cm from the lens ? Also calculate the size of the

image formed.

Draw a ray diagram to justify your answer for the above situation and label it.

23. (a) Yok YIS T fG&I00T 7 € 2 THh! HRUT fAray |
(b)  “TEIN G % THRT & fOEI0T H T IR & 7 T HAT B GAE, NG H
TETIAT F 3T H THUT S bl AT Fh BT | Thdl T5ET & U107 % ferw
gl 3MEYTF Tt bl el TR |

(a) What is dispersion of white light ? Stae its cause.

(b) “Rainbow is an example of dispersion of sunlight.” Justify this statement by
explaining, with the help of a labelled diagram, the formation of a rainbow in the

sky. List two essential conditions for observing a rainbow.
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24. U WA 3T I T 31aqeT SU0T A, B 31R C € STl sk gRat saet: 10 cm, 15 cm
AT20cm e |WWW$WWWWW,WWW—W 10 cm, 20 cm
3R 30 cm & forw, ufdfersr =1 @9 & fou ugi w=a € | SRoT 9ed T KT e e &
Wﬁﬁ?:

(a) o fafy=T ferasfaEt & ferw sdur/syon 6t veenfae St —1 e 1 wfdfens s=m |

(b) T M TUUN § ¥ I YEAU TSGR I SHM/HE-IT & HI & folw wirshar &
ST |

(c) TUUT B gRT {2 10 cm 3R 20 cm % oW fopdt feorar o1 wfdfersr o= 391 & forw
TRI0T 2 ST | 5

Suppose you have three concave mirrors A, B and C of focal lengths 10 cm, 15 cm and
20 cm. For each concave mirror you perform the experiment of image formation for
three values of object distance of 10 cm, 20 cm and 30 cm. Giving reason answer the
following :

(a) For the three object distances, identify the mirror/mirrors which will form an
image of magnification — 1.

(b)  Out of the three mirrors identify the mirror which would be preferred to be used
for shaving purposes/makeup.

(c) For the mirror B draw ray diagram for image formation for object distances
10 cm and 20 cm.

WAT-o
SECTION -B
25. WfewEl | 9 SR H TSR, 3Te], YhTehal, Hell, TARY 3R &7F W € | T19 ¥ i JueTa

AT el hid & 2

(a) TSR, YeRh] 3T 3Tl

(b) TSR 3R Heit
(c) TSR, 3] 3R 2HIR
(d) ST 3R e 1

A basket of vegetables contains Carrot, Potato, Sweet potato, Radish, Tomato and
Brinjal. Which of them represent the homologous structures ?

(a) Carrot, sweet potato and potato
(b) Radish and carrot
(c) Carrot, potato and tomato

(d) Brinjal and radish
31/2/3 9 [P.T.O.



26. Todr Bl e o UST @ oA aTell TehreT 0T 61 09 3TRREd & & WA § &ie S5
T VT I o i feror

(a) 3TMOTAd fRYoT & TR & |

(b) 3ufda fohor &l feom & T e & |

(c) Torafer g fosm & Udet WHT t 31K g St & |
(d) Torafer g fUsm & | AT =i 31K g8 St € |

In an experiment to trace the path of a ray of light through a triangular glass prism, a

student would observe that the emergent ray

(a) 1is parallel to the incident ray.

(b) is along the same direction of incident ray.

(c) gets deviated and bends towards the thinner part of the prism.

(d) gets deviated and bends towards the thicker part (base) of the prism.

27. Al B A AN 3T SHER BE & Wid § TSRA aTelt Wb 0T 1 ue TRRad &Y forar
T 1 Afg U T ARG H 1, 2, 3 TS 4 I 3ifehd A o {o1T el S, A Li, Le, Lr qdT
TS foreTT T Wel SHH SR BT 2

(a 2,1,3,4
(b 1,2,3,4
(c0 1,3,2,4
d 1,3,4,2

31/2/3 10



A student has traced the path of a ray of light through a glass slab as follows. If you
are asked to label 1, 2, 3 and 4, the correct sequencing of labeling £i, Ze, Zr and
lateral displacement respectively is

(a 2,1,3,4
(b 1,2,3,4
(c0 1,3,2,4
d 1,3,42

28. T fereh meRa gRY fRdt Tgasist siist & U7 o faf=T 9 7 3T s & foTT et
T | A 3 UET % 5 Aeede w07 KU T E
A. SIS A I T K O o) e S |
B. i ofiST %l I WIfeAT 3HX 5 fafi=T 9T T UefuT hifsTy |
C. UWifew d $5 W oS AT |
D. 3ye ST & X ST, Mot shog | sl ol el 3] U {7 U9 & @ &

T |
T =0T BT HE R
(a) C,A,D,B
(b)y C,D,A B
o0 ACD,B
d ACB,D 1

The students of a class were asked by the teacher to study the different parts of an
embryo of an angiosperm. Given below are the essential steps for the experiment :

Soak the seeds in plain water and keep them overnight.
Cut open the soaked seed and observe its different parts.
Take some healthy seeds in a petri-dish.

Drain the excess water, cover the seeds with a wet cotton cloth and leave them as
it is for a day.

The correct sequence of these steps is

SCnwy»

(@ C,AD,B
(b) C,D,AB
c) ACD,B
d ACB,D
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29. I B STeT HT &I Tg ST % TIT Y T & T WG o T el & fow Faram i |
ST € | T8 A UL o W S FHCTAT ST 39 STe o |1 TaY 31 & ST U 2 ©

(a) aud
(b)y TAFTAH
(c) ToEymy
(d) dEH

A student is testing water to know which is best for cleansing purposes with soaps. He
would find that the cleansing action of soaps is best when he uses water obtained from

(a) rain

(b) tap

(c) hand pump
(d) pond

[a¥a

30. FHATREd W foER ST
(1) T e
) WA
(I11) TRYA T 7
(IV) Twre
(V) |3 &
(VI) RIS & dA
T Y TohIhT SUFNT Qe S | fehar ST gehel & 2
(a) L II, I, VI
(b) 1II,V, VI
(¢) IL1II,V, VI
(d) II, 1, VI
Consider the following oils :
() Mobil oil
(IT) Castor oil
(III) Turpentine oil
(IV) Kerosene
(V) Mustard oil
(VD) Coconut oil
Which of these can be used for preparation of soap ?
(a) L II, I, VI
(b) 1II,V, VI
(¢) 1L 1II,V, VI
(d) II, 1, VI

31/2/3 12




31. THR gRI SUANT T ST aTeT S1Rehier W1 § STl el ool TWIE € —
(a) Wit FANES
(b) TR ErEgiES
(c) WiteaH TrRgHIES
(d) TR FANES 1
The chemical mostly used in the preparation of most of the soaps we use is
(a) Sodium chloride
(b) Potassium hydroxide
(¢) Sodium hydroxide

(d) Potassium chloride

32. IS B A g X’ ol Hihd g, [T 33 fone o wfdtee bt o bt &l fgem H, i

¥ 20 cm T R I IS UR Ik ek A AT § | iR X0 § —

(@) 10 cm Hishd U M FFTA o

(b) 20 cm T T T IAA 9

(c) 10 cm HisHH I M FTETA U

(d) 20 cm TIHT I I 3TedeT FUIT 1

A student determines the focal length of a device ‘X’ by focusing the image of a
distant object on a screen placed 20 cm from the device on the same side as the object.
The device ‘X’ is

(a) Concave lens of focal length 10 cm

(b) Convex lens of focal length 20 cm

(c) Concave mirror of focal length 10 cm

(d) Concave mirror of focal length 20 cm

31/2/3 13 [P.T.O.



33. e 91T WRIRT 15 cm Wi X & ST 01 %l WIS H ST Wl o9 T 42.7 cm
ot W TEd € 3R AR BT A, B, C 3R D § U8 &l Uh1ivrh 59 W 39 feafa 6 A e
T % fo1u whed & 9 W T W ot e get o ufdfeas 08 W Qi € O 81 ST |
TRT BT FRT Gt T et 59 v €

A. 127cm

B. 29.7cm

C. 57.7cm

D. 727cm

% o T et g e o €
(@ A

(b) B

(o C

(d D

A teacher sets up the stand carrying a convex lens of focal length 15 cm at 42.7 cm
mark on the optical bench. He asks four students A, B, C and D to suggest the position
of screen on the optical bench so that a distinct image of a distant tree is obtained

almost immediately on it. The positions suggested by the students were as :

A. 1277 cm
B. 29.7cm
C. 577cm
D. 7277 cm

The correct position of the screen was suggested by

(@ A
(b) B
(o C
(d D

31/2/3 14



34, 3O oG & v | ol fo R & forw widfe gfat A S & W § w9
15 cm FIoE T 1 I 7 AT hal TETe forar o o & 20 cm T W T@a ¢ i 39
U5 TR A AT & | T ITE] o for H €RgR o) ¥ T o S § R & AR
Tfcfe i 0% TR HH Tl § |

(a) Ve =l WIhEd I % o0 98 Is ! fohd 3T TXHIAT & — o 1 3T el o 9
I

(b) fdfer o WEST § 1 IREc il § 2
(c) oG H o fehat 30 W Y@ W fawel o7 —1 3Tere ot Ufdifera UTed &la & 2

(d) SIS foe o9 9 g 9T €, U8 W S WAt B el § R YR T URed g
g9 2

To find the image distance for varying object distances in case of a convex lens of
focal length 15 cm, a student obtains on a screen a sharp image of a bright object by
placing it at 20 cm distance from the lens. After that he gradually moves the object

away from the lens and each time focuses the image on the screen.

(a) In which direction-towards or away from the lens does he move the screen to

focus the object ?
(b) How does the size of image change ?
(c) Approximately at what distance does he obtain the image of magnification —1 ?

(d) How does the intensity of image change as the object moves farther and farther

away from the lens ?

35. I B 30 {aaerd TR § UHifed 3Tt o TUTHHT T 3T Y T & | S Al
Hifereh TTUTEHT SR T TGRS TOTEET G SR, S UeIUT ek 39 U Alegsh o
foa =T | 2

A student is studying the properties of acetic acid in his school laboratory. List two
physical and two chemical properties which he must observe and note in his record
book.
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36.

31/2/3

TE DI T STANTR T & T8 Tehed STeh § &1 Tl W il & 27R- Sieh ol 3if&dea qaTe
ST & 2 30 STR B Yt & fIw 3 ufehar 61 v 3 3ifam =Ror 3 Wiees 59Tt |
3G T I ool HITT STHY TE Tisham TRT gl € |

In which asexual reproduction two individuals are formed from a single parent and the
parental identity is lost ? Draw the initial and the final stages of this type of

reproduction to justify your answer. Write the event with which this process starts.
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